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Problem A (weight 1/2)

Consider a competitive industry consisting of two types of firms that only differ in their
productivity. There is a fixed number of efficient firms and free entry of the less efficient
firms. Firms are either organized as i) traditional capitalist firms, ii) worker-owned firms or
i) unionized firms. Worker cooperatives and unions maximize the income of their members
and are internally egalitarian. Productivity is unaffected by ownership.

i) How do employment and labor income vary across ownership structures?
i) Are workers better off in worker cooperatives or unions?

Problem B (weight 1/2)

Discuss which level of government that should be responsible for the provision of local public
goods.




